
Conflict Point Summary

X Crossing = 24
Merge = 10

O Diverge = 9

Total Conflict Points = 43
Existing Intersection
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Conflict Point Summary

X Crossing = 68
Merge = 13

O Diverge = 9

Total Conflict Points = 90
Partial Displaced Left-Turn Intersection
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Conflict Point Summary

X Crossing = 7
Merge = 11

O Diverge = 9

Total Conflict Points = 27
Diverging Diamond Interchange
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Conflict Point Summary

X Crossing = 20
Merge = 11

O Diverge = 9

Total Conflict Points = 40
Tight Diamond Interchange
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Conflict Point Summary

X Crossing = 47
Merge = 11

O Diverge = 9

Total Conflict Points = 67
Low Impact Partial Displaced Left-Turn
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